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All questions are compulsory..
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The question paper-consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks éach and Section-
D comprises of 11 questions of 4 marks each.
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There is no overall choice in this question paper

Ferporel 1w afda £
Use of calculator is not permitted.
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Question numbers 1 to 8 carry 1 mark each.

e aE] | 72w, faud 615 3 963 ) WM T W Wew aw 0 9 6 5, € ; 1
(a) 82 (b) 95 () 87 a8

The largest number which divides 615 and 963 leaving remainder 6 in each case is :

{a) 82 {b) 95 fc) T (d) a3
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{n’ —1} is divisible by 8, ifnis :

(a) any natural number (k) any integer

(€] an odd positive integer {d) an even positive integer

A o AU LT 4x* +3x— 7 FYIF E, W+ I FAAE 1

(F ey ® Y @ . J TN

if w and |3 are zeroes of the polynomial 4x* + 3x—7, then ];:: + % is:

w7 ® % € IS

Tz IfaF FRFO-TH —x+y= —1, x+ ky=5F1 TF Sigara &cl &, ol k 1 71 & : 1
(a) =i 3 (I c) =1 (g =]

If the pair of inear eguations —~x+y= —1, x + ky=>5 has a unique salution, then value of k is -

{a) = Abl— 1 (c) 1 (d) - —1

T U= 6 Al 24 em 232 om T WA ﬂ'ﬁﬁ?ﬁﬁﬁﬂﬁaﬁ‘lﬁ%:_: 1
(a) 12 cm (b) 12.8 cmic) 19cm {d] 19.2cm

The lengths of the diagonals of a rhombus are 24 cm and 32 cm. The length of the altitude of the
rhombus is :
(a) 12 cm () 12.8 cmic) 19¢cm  (d) 19.2.cm

cot 107 cot 15* cot 75° cot B0° &1 HH g

@ 0 ® -1

e 1 (dy & FeTedl = A

The vatue of cot 10° cot 15° cot 75° cot 80° isequalto: 0
@ 0 by ~1

(c) 1 (d) cannot de determined

afz TEEm AABC fomd B WS ¥, C UH A #M & @ sinC+cosC aUER 1

2:
(A) 1 B 2
(€ 1¥=m (D) 1% s

If C is an acute angle in a right AABC, right angled at B, then the value of sinC + cosC is equal
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(A) 1 By 2
\9/ less than one (D)  greater than one
=1 AR |24 W faE i . R
WA 0 i | 10 |20 o0 30 41 | 40 =0 | 50 ]
Hfyw | Flyw Hfen Al Higeh it
fernfefat =t @en a3 58 5ER 51 458 42
7 30 - 40 HI FLARA & : A
(A) 3 (B) 4 (©) 48 (D) 51
Consider the following distribution :
: 0 or|lD or | 20 or | 30 or | 40 or | 50 or
Marks obtained
more more | more more more more
MNumber of students | 63 e} Sha =1 48 42
The frequency of the class 30 - 40 is:
fA) 3 B 4 00 (O« 48 (D) st B
=Us-d/ SECTION - B
Wv HEAT 9§ 14 7 Wi W9 2 3R T g
Question numbers 9 to 14 carry 2 marks each.
AT LCM (a, b) = 26460, HCF(a, b) = 27 X b= 540 %, 79 o T HifeT | 2
If LCM (@, b) = 26460, HCF (g, Y= 27 and b = 540, then find .
=% Tt agge § Fifey faas =9 3+ J2 93— 2 B : 2

Find a quadratic polvnomial whose zeroes are 3 + J7z and3=-.5.

T HifaT |

7 3 .
Find a gquadratic polynomial whose sum and product of zeroes are ~ — and —respectively.
= 7

Find also the zeroes.

1 78 AT H A9fs AD=x, DB=x—2, AE=x+2 9 EC=x~1 € @ DE|BC & & x' 1 77 3 2
e |



E
A - Db B - =iy
/]n the given figure, if AD=x, DB=x—2, AE=x+2 and EC=x~1 and also DE|BC, find the
value of 'x'.
e
E . = L
' I.‘, z
i
A o B
. 4 2
sim 830 ot in- 27
qﬁﬁa-?rﬁ-m . = 5i - :
cos 27t fosT 63
” S m 5
e liiats _::I._I;l_,’j_% v gin® 37
cos” 277 ;:usz 63"
AT sibel 1 W WA R . e g
= ; :
1—35 12
=95 22
SR F
7-9 19
Form the mean of the following data :
Classes | Frequency S
1 =3 12
Bosn SR _ i
15-7 274 :
Fon 19 - .%-r:w ................................ AR SV

@WUE-"/SECTION - C

Ty HE 15 U 24 Ak Wedeh WO 3 36 H1 2|
Question numbers 15 to 24 carry 3 marks each.
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firere fasrer Ui 1 wANT X, 248 3220 F1 HCF 96 Hifs |
Using Euclid’s division algorithm, find the HCT of 248 and 220.

aﬁﬁnb%ﬁﬂﬁm?ﬁmiﬁﬁ?ﬂﬁﬁﬁwm 5, (a—2b)x — (a + by =15 F1 WEE FEI
Tt T 2 2

For what value of a and b the pair of linear equations has coincident lines on the graphical
representation.

2x—y=>

(a—2bjx—(a+b)y=15

afz faumt wgae 27— 3x+ p F UH YH 3 §, O 91 GAU IFH I@ HiwC | p FHH I T
Fifer '

If one zero of the quadratic polynomial 2x"—3x+p is 3, find its other zero. Also, find the
value of p.

s Tl TiEn H, wels ue eal & fou s 7% WEF T Sl & 9 9es Terd I &, fog L
i o Torm o &1 ey T 120 9wl % o feu 8l 90 21w wra R S g fou o HE I
ﬁmaﬁﬁmt

i .
In a competitive ex’murmtmn one mark is awarded for each LDI'!'ECt answer, wh1le — mark is
‘J

deducted for every incorrect answer. Ajay answered 120 questions and got 90 marks. Find
the number of questions answered by him correctly. A

ATFM T, Aﬁﬂﬁﬁﬂﬁ;ﬁﬁﬂﬁ /¢ 0% € 3 DE L AB &1 A% BC=12cm AD=3cm, 791
DC = 2em &1, A1 THE FITAT 73 AABC~ AADE &1 AE a1 DE 4l S i |

In the figure, AABC is right angled at C. DE L AB. If BC=12cm, AD =3cm, and DC=2cm, then prove
that AABC~AADE. Also, find AE and DE.
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3
If the diagonals of a quadrilateral divide each other proportionally, prove that it is trapezium.
i
|
' }1’ g =it (cos?45° + tan2 60°) — 6 (sin® 45° —tan? 30°) = ¢, 3
ﬁ..
. Prove that : 2 (cos? 45° 4 tan? 60° —6{5:’n245°-—tarr23l3“]=5_ S5 'l"" ~ olg—Ex
![ i
2 e sin"8 + cos B+34in 0 cos20 3
I9E Fifa fy S0 0 c . =1
{17+ Iun)'ﬁjl (1= sin" 0 .L‘;
oy o i fa T 2 Y
1 Prove that =% " " hasd e 1 l"’J/::‘:.-
(L+ [an"”j{l_sinzﬂ} ~
/{ f—rqw“tnqnmaﬁwﬂmaf'ﬁ ﬂ}m%rwm&ﬁmamaﬂﬁq i R |
rHT&ﬂHTEI[ 45-55 [55-65 ]e: 75 |75-85 |85-05
| W w1 wen |11 |12 9 1
‘ The fcﬂlmnng h_’tl.‘JIl‘._ iy es 1m - the literacy rate (in %) in 40 cities. Find the mean hterarx rate
| Literacy rate (in %) [ 455 55 135-65 [65-75 [75-85 |85-¢5
Number of cities | 4 |11 [ 12 9 4 - -at SHR
?/ Fmaﬁﬂaﬂarﬁ-{mﬁﬁrq R s

4 I 3 0-20 [20_ m 40 - 60 - 80 TS[] 100
| e T T 20
{ _OHTY _}_wuk the mode of the

followi ringr da ta :

Class:  [0-20 [20-40 [20-¢g 60-80 [ 80- 100
Frequency: | 25 16 28 | 20 |5

WUE-T /SECTION - D

WY HEAT 25 | 34 7% Yeims g 4 3FT FHTE
Question numbers 25 to 34 carry 4 marks each.

2/ Hﬂﬂ,ﬂﬁﬁ!ammﬁw@m%%ﬁﬁﬁaﬁﬁ%mmaﬁﬁﬂv&&q: TH HEHq 4
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/ Amita, Suneha and Raghav start preparing cards for all the persons of an old age home. In
order to complete one card, thev take 10, 16 and 20 minutes respectively. If all of them started
together, after what time will they start preparing a new card together ? Which values do
these children reflect.

FETE 23~ 10 22 + 31x — 30 F 31 IS T Fifee, AfE 2 37 3 70F IHF B 4

Find the other zero(es) if 2 and 3 are zeroes of x*—10x2+31x—30.

FETE flx) =+ — 3" — ¥+ 9x — 6 F T YAF T FI90 ARG — 3 AAG 9% 2 I49F & 4

Obtain all zeroes of the polynomial f{x) = 2 —3x"— X+ 9x—6 if two of its zeroes are — /3 and

I
7

3l TE SFa H AABC H XY||AC & 791 78 T3= ABC =1 TR =) 9wl H =i 2, T doee aam 4

F1 2% g iy
AR
7
§

8 X A ‘i
In the given figure, XY||AC in triangle ABC and it divides the triangle into two parts of equal

- A X
area. Find —/—.

AB

AABC T S[IIRTT AB 3R AC W g D 3R E 30 YR T T DE||BC & G901 DE, AABC &1 <1 W1 &meil 4

~3

ppe

Hfﬁﬂﬁmmﬁ%t Eﬁﬁ‘lﬁﬂ_l '&EE
D and E are points on the sides AB and AC réspectively of a AABC, such that DE||BC and DE divides

B

AABC into two parts, equal in area. Find —.
AB

y ‘_{-_'.F[ 'Hm \Jl[! = 4
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i cot”™ o0 sec 30 2zin 45

3 . vl a
gin” 60 T cos” 45
Evaluate :

$ oot 60 torec 30— Sean A WA

5i.n: &0+ cos- 45’ ﬂ]l
Sl & WA H cos60” 1 HI TR FISIC 1 6 cosec60® T Fia@l a
Find the value of cos60” Geometrically. Hence find cosec60®.
:‘_
= sin® = e ; SRy } 4
4f e ﬁ(d}ﬂ%}ﬁmﬂﬁ?ﬁnﬂ%qﬁmwf )
If 5in® = ﬁ and d = 0, find the values of cosl and Ian&.,:_sﬁ -
'F! dh
@m%%maﬂﬁmmqmmﬁmmﬂaﬁmﬁw a
ai (6. 5) | oml %t e -
38=40 3
40 - 42 2
47 - 44 4
44 - 46 15
46 - 48 14
48 - 5l 1
50 - 52 3

TR Sel A U W R T a8 e TR 1 de S g A A A A 6
Fifau |
During the medical checkup of 35 students of a class their weights were recorded as follows :

Weight (in kg) | Number of students

38 - 40 3

40 - 42 2

42 - 44 +

44 - 4 2 =
46 - 48 14

48 - 50 1

50 - 52 3

Draw a less than tvpe and more than type ogive from the given data. Hence obtain the median
weight from the graph.

| fort aramen s @1 WA 628 % % o AR % e AT 50 & A AW ARARAT f; a1 fo 77 Fd |
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] 0-20 |20-40 ]40—5{} 60—-80 [80-100 |100-120
Ereirs 5 fi 10 b 7 8

The_mean.of the following frequency distribution is 62.8 and the sum of frequencies is 50. Find
the missing frequencies f; and f. .
Class 0-20 |20—-40 |40-60 |60—80 |80—100 |100-120
Frequency | 5 f 10 f 7 8




